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Q.1 Asequence is given, with one term missing. Choose the correct alternative from the given
ones that will complete the sequence.

GK28, KF40, OA52,?, WQ76
Ans ;( 1. TUB4

)( 2.5U64
;( 3.TV64

._( 4.SV64

Question ID: 71939924057

Q.2 Inthe following question, select the related letters from the given alternatives.
KR: NU :: TV:?
Ans ( 1. wy
X 278
X 3.XZ
2K 4.VX

Question ID: 71939924060

Q.3 How many lines are numbers?
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Ans X112
X 2.20
W 3.2
X 4.9
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[ Question ID: 71939924071

Q.4 A sequence is given, one of which is incorrect. Choose the wrong term from the given
alternatives.

44, 22, 33,72.5, 288.75
Ans ?{' 1.22
w2725

X 3.288.75

}(4. 33

[ Question ID: 71939924069

Q.5 Ateam of four members is to be formed in 5 boys: P, Q, R, Sand T and 5 girls: J, K, L, M
and N. Keep the following conditions in mind:

(A) P and M will always be chosen together.
(B) N and L will not be in the same team.

(C) R and T will always be on the same team.
(D) The team must have at least one girl.

Which of the following teams cannot be formed?

I. PMJL

Il. QSRP

. LMQP

IV. LRTN

Ans  of 1.1 llland IV

?( 2. lland lll
X 3. land il
?( 4.1and IV

Question ID: 71939924064

Q.6 A sequence is given, one of which is incorrect. Choose the wrong term from the given
alternatives.

ROMD, XWGY, DEZT, JMSO, PULJ
Ans X' 1.JMSO
?( 2. XWGY

/X 3.DEZT
« 4 ROMD

[ Question ID: 71939924058

Q.7 A Ry 7q usr d 5 HUT R I a8 I HUA WR TR T FAswd fag 1y &1 Ry g
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HYH! St g AR, @ ITH = A a2l & R=gar gh gaft e o ofik R RuffRa o f
g g = @ fAeepd, Ry g @Al & smuR wR gha &1

CUCH

|. F® &ret, dier &1

II. S e, qereh & 21
III. ehYE TeTeht, Wb =& 21

fArsepef:
|. IS Tthe, T & &1
II. o e, &1t &1
IIl. o Temeht, e =g &)
Ans X 1. et e || SrTEROT R &1
< 2. ot Frep argeor v &
25 3. A s | o 111 SrgeRoT o &

«4.ﬁﬁWIIHWIIIWW§I

[ Question ID : 71939924067

Q.8 Uk fafre st v &, ‘GRIPS' @kt ‘71891619’ forar siran &, ‘FRAME’ & ‘6181135’ forar simar
2139 &hie vt & ‘'JEANS' oAl IS R 87

Ans X 1.10411491
o 2.10511419
75 3.15114901
75 4.15011491

Question ID : 71939924062

Q.9 fF=fafEa s 7 Ry mg Reredt § & Ruw o1z g & glRal
Ans X' 1. dT: TmE

75 2. wffer : gt

25 3. o anh : At

«A.EhTﬁGI:ERS[

Question ID : 71939924059

Q.10 &g 7Y @rTSt @t Ated R, R=faf@a § @ & ar u= g9 5 aar 82

¥ @
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X 2.l | @t
p AR
X 4l
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Question ID : 71939924075

Q.11 fF=fafaea s & Ry g Reeat 7 & H@4fda sier gm &t gfagl
MOK: STS :: ?
Ans o 1.RGM:XLU
25 2.RAP:XFY
/X 3.GOM: MNU
/5 4.LIP: RQH

Question ID : 71939924061

Q.12 Apen is rotated by 372° in clockwise direction. Then, it is rotated by 476° in anticlockwise
direction. Again, it is rotated by 234° in anticlockwise direction. It is finally rotated by 458°

in clockwise direction. Now, it is pointing towards east direction. In which direction it was
pointing initially?

Ans X 1. South east
x 2. North west
«' 3. North east

x 4. South west

[ Question ID : 71939924073

Q.13 sg st F, G, H, J, KauT L G dfth & o= &t ofik 7 ek 481 g4 8 (S8 g1 oht 338t vt
AgH)ILAMKSA RIS g 81 Faam K& aea Faet G 8l J, H & gea arff sk 81 G, F & gia
i 3R 81 I SR | F a1 T /T 872

Ans  of 1 e

X 2.5
X 3

75 4. fear

Question ID : 71939924063

Q.14 = it IWR e us e & ufasu ol o1 Fofi?

HX—}

W

Ans
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Question ID : 71939924076

Q.15 afe‘A+B w1 3f ‘A, B faar &', ‘A - B' a1 s ‘A, B aga &', ‘A + B’ <1 312 ‘A, B &Y uet
&, 'AxB wad ‘A Bagd @, af Fafafla d @ o9 a1 'S &Y P &Y ag” g2rfan @7

Ans X' 1.A+QxR-S+P
X 2.R+PxS-Q
X 3.R=SxP+Q
W 4PxQ+R+S-A

[ Question ID : 71939924065

Q.16 afE 43P16M19=46aar11M13P12=128,a116 P18 M24="
Ans 1.32

2.22
3.30
4.24

Question ID : 71939924068

Q.17 2 g 710 usr o wUA HR IS a8 I FUAT R TR F Aeed R 1y 1 Ry g
HYAl Sl gl 7, =TT I T A1 9241 @ FRFar gt gaft A v ofik o RafRa &1
g g == | fArend, (Y Tg wYET & muR wR gihETa 81

HY:
L.ty ME
Il. & M, A gl

forseptS:
LA, Jadi gl
Il. s A MTE I

Ans 1. haet fsene || STERoT SRt B
2. haet e | STgERoT deat B
3. T ISR | T 1| SIERT e B
4. TS oft e ergaRor g e g1
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[ Question ID : 71939924066

Q.18 wi= Tt IR P v AP & ufaey i /1 Hof?

Ans 1.

2
3.
4

Question ID : 71939924074

Q.19 Shweta starts walking. After walking some distance, she moves left. Now after some
distance she turns right. After some distance she finally moves right. If she is facing
towards south, then in which direction she started walking?

Ans 1. South
2. East
3. North
4. West

Question ID : 71939924072

Q.20 T ¥ AT Sit = Ry g ot & i & d&y o Fg Ao Fwar gl

S{eATYh, AT, J3Y
Ans 1.

2
3.
4

Question ID : 71939924070

Section : General Awareness

Q.1 #grem nift gRT A e geamrg A ffesr TRaR & e ugen if@e wrRdT dof
forar?

Ans 1. AGHTITE AT
2. JURY AWE
3. TS IATWE
4. e AT

[ Question ID : 71939924089

Q.2 @exrse e ¥ Hdfda Fafafaa d @ sq-ar wu= 1o 82

Ans 1. TeRTSE HaT dehfceh TH dUT [k g o 1Y IURICHLNT quT IUTWIhics e Sierary & 1 3=
gidt 81

2. 3 7diesg W 3o+t fRAM & Hror eror qu1 fiRmae & 3@ ga |
3. TIexIEe TaT SHfdehdd T § Mg JUT SIS Mg, &R T aedfa utweh & orquf gt &1
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4. Fexrése e Rt auf & wRUT srcafden Sfif<iT @1 afkom g1

[ Question ID : 71939924086

Q.3 Who won the 2019 Senior Women'’s National Squash Championship?
Ans 1. Joshna Chinappa

2. Dipika Pallikal Karthik

3. Sunaya Kuruvilla

4. Janet Vidhi

Question ID : 71939924092

Q.4 @i & A 3ivres ArzEIE a9 F wfFfea gidt 82
Ans 1. @R

2. ATgEIRaATgaT

3. xgenfar

4. Tiiestt JUhTOT

[ Question ID : 71939924081

Q.5 The Khalji and Tughlug monarchs appointed military commanders as governors of
territories known as

Ans 1. Igta
2. Samanta
3. Mugtis
4. Kharaj

[ Question ID : 71939924088

Q.6 ITERUTH fay gueifeas Affmafa 2019 1 Asia &4 Han?
Ans 1. @&l

2. AR

3. difSiT

4. R

Question ID : 71939924095

Q.7 F=fafla d & wa-ar wigpfas Sia-sn< &1 g |8t adid & 3« @ a?
Ans 1. THIER - iedferen s

2. TarT - UEfifeen et

3. 7 1 S - wifdeeh ST

4. 3AeA - AdTgh 31kt

[ Question ID : 71939924083

Q.8 #=aTEH AT A IpE alTe™ & fOg e SRR o1 Halea g & Hf Sfae s, 2019 7
fore srfaan/eifa=sht &t wer= foram wam 87

Ans 1. amfiw fremeff
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2. Seft sfigR

3. IraTeret
4. frer

Question ID : 71939924091

Q.9 @ wdfda el § 77 yor a@ g @
Ans 1. UfSraegH

2. RSwgar

3. STAThIEeT

4. ATRTSeT

[ Question ID : 71939924082

Q.10 ;maﬂ:ﬁﬁaamﬁzmﬂmuﬂmﬂ:mmawﬁﬂﬁnﬁ@amﬁﬂﬂaﬁﬂmaﬂaﬁ
?
Ans 1. 3% U< T g chl Ufehar 3R SMTUR Jaied UmaTed & =umaresr & fow gam g1
2. IR & 5k iR AgTeraT uiiereh el Fgfth Igufc gRT &l STt 81
3. e ofR AgTeRaT udteres i Tormg wR Agufy ofk T o wredl & @idl @l AUy & w U § 59 aRE
T ST
4. 98 3197 U TR IR g1 & 918 T I7 5T YRhR & dgd 31 & hraierd o folg urs g

Question ID : 71939924094

Q.11 "&R=1 sfg=, w1 A fafaf@a 9 @ Ra ufag aaftea i sieaaar 82
Ans 1. 37ee fogR areToRt

2. 3ifAq s

3. STy F=a

4. 9&T I

[ Question ID : 71939924090

Q.12 1905 #, forT IR A ST 1 favTeT R fear ar?
Ans 1. IRRRMA fored

2. arreRy fermferermt
3. ATIERM ot

4. TR Raa

Question ID : 71939924087

Q.13 wrRa # fFafaf@a 7 @ wi9- wae agaayef oot s T8 82
Ans 1.

2. 9o
3.%s

4. 71

[ Question ID : 71939924085
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Q.14 The Annual Financial Statement of the Government of India shows the receipts and
payments of government under which of the following government accounts?

I. Consolidated Fund
Il. Contingency Fund
lll. Public Account

Ans 1.1, llandlll
2. land lll
3. lland il
4. landll

[ Question ID : 71939924080

Q.15 el a1 2faR oift B, g el Aeft F ST TEAT
Ans 1. Gewra

2. =t
3. Hieieht
4.R

Question ID : 71939924078

Q.16 fA=faf@a & @ SwT-ar1 31&fier WRd &l g RTeR &l d fanfSia wear &2
Ans 1.23°45'N

2.22°30'N
3.23°15'N
4.23°30'N

[ Question ID : 71939924084

Q.17 fA=faf@a & @ &9 a1 urauE FareT & dfaus @ yrRda dfaus grr SurR 98 o mar g2
Ans 1. QRH g & 1Y TEHT TaeT

2. %z GRT IST & IsquTed i fAgfh
3. S=IqH ety bt WALl fAufaa

4. I75G T o folq Tt ol AATHieh

[ Question ID : 71939924093

Q.18 A=Y sy fFa B« A Heifda 22
Ans 1. fhde

2. gieht
3. padid
4. ek

Question ID : 71939924096

Q.19 fam waTera & siarfa i & fumT & ure i ate (3 sIote afga) i FaRT iR ugeiazor

F g DwieR Tug ofR A5y TRERT & o Agafa oA ok dheenfa weer wane= & aga
gt 32

Ans 1. =g g
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2. [dsr ofR rdsifes dufx e faamT
3. Iored faumT

4. 3nfdes argat et famT

Question ID : 71939924079

Q.20 @5 ud e 1R g vl igr i d§ @ e wrda g § g=mar s &2
Ans 1. faER

2. Rafwew

3. 31 §H

4. Sifeam

Question ID : 71939924077

Section : Arithmetic Ability

Q.1 fades aur Aifga srhet Ueh i ol shusr: 42 R aum 56 @ A 31 o Tehat €1 fades aur Aifga
Ueh HTY R & & ueg Aifed Yra & 12 R & uyra o sts &1 81 A9 &f R &
et fohert R elat?

Ans 1.217=
2.15 =
3.24f=
4.18 &=

[ Question ID : 71939924111

Q.2 919« & G &l 55% & TeT1 T §1 99 i A @A & forg e guft ot et @ua fhas
ufaRra & e oz 3 Tfge?

Ans 1.36.53 ufasrd
2. 39.85 ufasa
3. 35.48 ufdsd
4. 37.83 ufasra

[ Question ID : 71939924103

Q.3
Ans 1.13/4

2.13/2
3.13/40
4.13/12

Question ID : 71939924101

Q.4 &9 sra= e/ o6 fasrar gva wR uRerfora dear 81 999 3 gar avg G 20% & @1 wR =it
qUT G T 3T Jed 1200 FUd &1 UF STUAT AT4/ET 3hT Jed UR UlRehford ahedl g1 99 3 Uah avg
M 1125 Tuz & 25% 6t g1 = = &t avg M & s g & g G & fasha e @ o srgure
&?

Ans 1.2:5
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2.1:3
3.3:2
4.1:1

[ Question ID : 71939924105

Q.5 ue avf & ugra ek AfA TAehgfE sarer (@rftfer Saie uR) wR 21000 FA g Sireht &1 agh wfy
M R | Iehgfl saret W (@iftfes waie wR) &t auf & ugia 22050 U2 g STt g1 sarst &
aiftfer 2 o 87

Ans 1. 15 ufasrd
2. 5 ufaRa
3. 10 ufasra
4. 12 ufaRa

[ Question ID : 71939924108

Q.6 40®.#, 35 Q.. aur 20 Q.. AT a1t T 3 T Y RueTeR 4 .. o ae g5
O TG ST &1 SI 9T T 20% faee= & @Ria g1 Srat 81 81 o Y el Sen o 872

Ans 1.350
2. 440
3. 400
4.380

[ Question ID : 71939924112

Q.7 = fear mar gue R U 2rgR & A= SR d sreamgent & S &t g2far g1

C6 ahifiT A srearuent it wear At Fifehn & et sreaTaen! &t dean & fRra-t &9 872
Ans 1.204

2.206

3.202

4.210

[ Question ID : 71939924116

Q.8 3242FmAF AN &I X, Y a1 Z # 59 vhR Ao frar man g i afg X, Y awr Z & iRt &
@ thALN: 18 $UA, 13 T AT 11 TUD TH & Y S11Q, of I1eh fg¥ 3: 6: 7 & sigura A gi1 Z
o T g @ g2

Ans 1. 71400 39&
2.975 30
3.900 ¥9&
4.1200 T

[ Question ID : 71939924107

Q.9
Ans 1.6/17

2.3117
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3.3/14
4.3/8

Question ID : 71939924097

Q.10

Ans 1.6
2.5
3.7
4.4

Question ID : 71939924098

Q.11 G U AT T FS WRT T el § TUT A HIT TATCAT § | SHeh T TUT Tl T UTd
A 4 : 531 af Ager Y ama 90000 F9A &, At IFHT = T ghm?

Ans 1. 40000 T0d
2.30000 0
3. 35000 0
4. 50000 ¥0d

[ Question ID : 71939924106

Q.12 wa M Fi s wt uget 33.33% & e T & auT R x% @ erar man g1 af M & gy
&A% § IS T&eTa g g &, af X T | &1 57

Ans 1.75
2.50
3.25
4.30

[ Question ID : 71939924104

Q.13 ©eh 500 Hiex wwft Iemrt 36 foh .t /der i fa @ =« @ @1 af a8 v ge it 70 Servs A uR
et @, At qet i =TS o g2

Ans 1. 400 Hiex
2.100 #HieR
3. 200 Hie®
4. 300 =

Question ID : 71939924109

Q.14 Qe Thex A e o a1 36 foh.#ft./der it 7fa & aeran @ aur ava e 9 uge 30 Rt/
g i 7fY T Terar g1 7R R & 918 a8 U A gt it 2 6 F qu wear @1 7w e
| gt I GHH ¢ &l a9 e J fheT Ty dm?

Ans 1.12/7 €
2.24/5 €
3.12/5%
4. 24/7 €&
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Question ID : 71939924110

Q.15 g e ISt &A1 1 g it 728 aUT1 900 <ht fAMSia st uR S huer: 8 quT 4 Tt 87

Ans 1.24
2.14
3.16

4.15

Question ID : 71939924099

Q.16 fersra e @1 siftha e & SrguTd 3 : 7 81 @e o1 ufaerd = 87
Ans 1. 56.14 ufasrd
2. 48.56 nfasrd
3. 42.85 wfasa

4. 57.14 gfasrd

Question ID : 71939924102

Q17

Ans 1.6
2.39/7
3.4

4.29/7

Question ID : 71939924100

Q.18 = fear war ¥ar R wes 2rER & fafw glew & araffal i dear ot garfar &1

TfE A glest H2 aur H3 # gt araf=ial 6 e ot Asfa @war g au1 B gies H1 aur He &
el arafial i T &t ST w=ar g, at B, A &1 fha= ufase g2
Ans 1.122.37 ufasrd
2.134.37 ufaed
3.126.31 ufasrd

4.130.31 gfasrd

Question ID : 71939924115

864 @.1.2 2, at amaa & faeof &t onard = gft?
Ans 1.6V73 ¥ HT
2.5v102 & H.
3.9v83 @),

4. 6v87 9.

Q.19 & AT T URATY, Geh g hil ulRfY & =R & owh Bear 21 9.5, &1 afk smaa o1 gwe

|

Question ID : 71939924113

Q.20 = Rz wan g1 R gk gard o @ g & fafvs AT ur o1 aret gard sigre i T @@
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garfar g1 foreft fafdre R ur o= aret gard steTet Y S &t |t AT ur o are et gard
STETST <hl T & w9 F g2rfar mar g1

D4 351 R g=man man i Yot o @7
Ans 1.44°

2.30°
3.18°
4.50.4°

[ Question ID : 71939924114

Section : General English

Q.1 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error'.

The country (1)/ expect us to (2)/ do our duty (3)/ No error (4)
Ans 1.2

2.4
3.3
4.1

[ Question ID : 71939924117

Q.2 Inthe given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans 1. Ambasader
2. Ambbassador
3. Ambassador

4. Ammbasador

Question ID : 71939924127

Q.3 Improve the bracketed part of the sentence.

The teacher (agree) to answer all the questions.
Ans 1. agreeing

2. has agreeing
3. No improvement

4. agreed

Question ID : 71939924119

Q.4 Rearrange the parts of the sentence in correct order.

P: in schools

Q: other activities

R: take precedence over
S: academic subjects
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Ans 1. SRPQ
2. QPSR
3. SRQP
4.PQSR

Question ID : 71939924123

Q.5 Rearrange the parts of the sentence in correct order.

P: high fever and

Q: on her bed

R: she laid motionless
S: she had

Ans 1. SPQR
2. SPRQ
3. PQRS
4. SRPQ

[ Question ID : 71939924124

Q.6 Choose the word that can substitute the given sentence.

A person who sells and arranges cut flowers.
Ans 1. Florist

2. Petrology
3. Sculptor

4. Zoology

[ Question ID : 71939924131

Q.7 Choose the word that is opposite in meaning to the given word.

Courtesy
Ans 1. Praise

2. Discord

3. Obstacle

4. Expand

[ Question ID : 71939924125

Q.8 Inthe given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans 1. Beneficial
2. Banefitle
3. Benefitial

4. Benificial

Question ID : 71939924128

Q.9 Inthe following question, out of the given four alternatives, select the alternative which
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best expresses the meaning of the Idiom/Phrase.

Life and soul
Ans 1. Energetic

2. Main support
3. Old people

4. All over

Question ID : 71939924130

Q.10 Choose the word that is opposite in meaning to the given word.

Spiritual
Ans 1. Carnal
2. Earthly
3. Legal
4. Bodily

Question ID : 71939924126

Q.11 Improve the bracketed part of the sentence.

It does not take much to (make) her angry.
Ans 1. made

2. makes
3. making

4. No improvement

Question ID : 71939924120

Q.12 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

| congratulated him his promotion.

Ans 1.dueto
2. for
3. because of

4. 0on

[ Question ID : 71939924122

Q.13 In the following question, out of the given four alternatives, select the alternative which
best expresses the meaning of the Idiom/Phrase.

Head over heels
Ans 1. Living is luxury

2. Here and there
3. A strange person

4. In love with
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Q.14 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

Flowers the beauty of our surroundings.

Ans 1.enhance
2. replenish
3. embellishment

4. destroys

Question ID : 71939924121

Q.15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error'.

Everybody admitted (1)/ that she has (2)/ doing her best (3)/ No error (4)
Ans 1.3

2.2
3.1
4.4

Question ID : 71939924118

Comprehension:

Read the following information carefully and answer the given questions.

Big dams received a big push from politicians and bureaucracy pouring enormous
amounts of borrowed money in the early years of Independence. There has however
been hardly any attempt at questioning the extent of damage caused or in evaluating
whether the promises of food, water and prosperity for all have actually been realised. The
diversion of rivers and construction of a long system of canals in a densely populated
country like India will involve displacement of people on a colossal scale and the people
affected are never likely to agree with such measures. All over the world, community
reaction is to prevent construction of large dams. Preserving rivers in free-flow condition
is considered ecologically necessary and the construction of large dams is now legally
prohibited in Sweden and also in parts of USA. The technical challenges to be faced in
redrawing the geography of the country are many and full of dangerous consequences
and the mad rush in pursuit of such a chimera will prove disastrous. The cost of the
project is so stupendous that any water made available will cost so much that
governments will have to be forever subsidizing farmers. What long-term impact this
massive borrowing will have on the economy is difficult to foresee.

SubQuestion No : 16
Q.16 Which of the following is not true about the water made available through dams?

Ans 1. The water so generated is mainly used in washing.

2. The government gives subsidy to the farmers due to high costs of the water from the
dams.

3. The water so generated is mainly used in agriculture.

4. The water made available through dams has high costs associated with it.

[ Question ID : 71939924136

Comprehension:
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Read the following information carefully and answer the given questions.

Big dams received a big push from politicians and bureaucracy pouring enormous
amounts of borrowed money in the early years of Independence. There has however
been hardly any attempt at questioning the extent of damage caused or in evaluating
whether the promises of food, water and prosperity for all have actually been realised. The
diversion of rivers and construction of a long system of canals in a densely populated
country like India will involve displacement of people on a colossal scale and the people
affected are never likely to agree with such measures. All over the world, community
reaction is to prevent construction of large dams. Preserving rivers in free-flow condition
is considered ecologically necessary and the construction of large dams is now legally
prohibited in Sweden and also in parts of USA. The technical challenges to be faced in
redrawing the geography of the country are many and full of dangerous consequences
and the mad rush in pursuit of such a chimera will prove disastrous. The cost of the
project is so stupendous that any water made available will cost so much that
governments will have to be forever subsidizing farmers. What long-term impact this
massive borrowing will have on the economy is difficult to foresee.

SubQuestion No : 17
Q.17 Which of the following have been mentioned as disadvantages of dams?

Ans 1. Ecological imbalance due to restrictions on the flow of rivers
2. Displacement of people on a large scale
3. Construction of dams is prohibited in Sweden

4. Displacement of people on a large scale and ecological imbalance due to restrictions
on the natural flow of rivers

GET IT ON

Google Play

[ Question ID : 71939924135

Comprehension:

Read the following information carefully and answer the given questions.

Big dams received a big push from politicians and bureaucracy pouring enormous
amounts of borrowed money in the early years of Independence. There has however
been hardly any attempt at questioning the extent of damage caused or in evaluating
whether the promises of food, water and prosperity for all have actually been realised. The
diversion of rivers and construction of a long system of canals in a densely populated
country like India will involve displacement of people on a colossal scale and the people
affected are never likely to agree with such measures. All over the world, community
reaction is to prevent construction of large dams. Preserving rivers in free-flow condition
is considered ecologically necessary and the construction of large dams is now legally
prohibited in Sweden and also in parts of USA. The technical challenges to be faced in
redrawing the geography of the country are many and full of dangerous consequences
and the mad rush in pursuit of such a chimera will prove disastrous. The cost of the
project is so stupendous that any water made available will cost so much that
governments will have to be forever subsidizing farmers. What long-term impact this
massive borrowing will have on the economy is difficult to foresee.

SubQuestion No : 18

Q.18 Which of the following statements is true?

Ans 1. The water made available through dams is better suited for industries than agricultural
because of high costs and most of the countries have banned the construction of big
dams.

2. Most of the countries have banned the construction of big dams.

3. The water made available through dams is better suited for industries than agricultural
because of high costs.

4. The diversion of rivers will involve displacement of people on a colossal scale.

Question ID : 71939924134
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Comprehension:

Read the following information carefully and answer the given questions.

Big dams received a big push from politicians and bureaucracy pouring enormous
amounts of borrowed money in the early years of Independence. There has however
been hardly any attempt at questioning the extent of damage caused or in evaluating
whether the promises of food, water and prosperity for all have actually been realised. The
diversion of rivers and construction of a long system of canals in a densely populated
country like India will involve displacement of people on a colossal scale and the people
affected are never likely to agree with such measures. All over the world, community
reaction is to prevent construction of large dams. Preserving rivers in free-flow condition
is considered ecologically necessary and the construction of large dams is now legally
prohibited in Sweden and also in parts of USA. The technical challenges to be faced in
redrawing the geography of the country are many and full of dangerous consequences
and the mad rush in pursuit of such a chimera will prove disastrous. The cost of the
project is so stupendous that any water made available will cost so much that
governments will have to be forever subsidizing farmers. What long-term impact this
massive borrowing will have on the economy is difficult to foresee.

SubQuestion No : 19
Q.19 Which word is similar in meaning to displacement?
Ans 1. Inactivity
2. Dislocation
3. Stagnation

4. Inaction

Question ID : 71939924137

Comprehension:

Read the following information carefully and answer the given questions.

Big dams received a big push from politicians and bureaucracy pouring enormous
amounts of borrowed money in the early years of Independence. There has however
been hardly any attempt at questioning the extent of damage caused or in evaluating
whether the promises of food, water and prosperity for all have actually been realised. The
diversion of rivers and construction of a long system of canals in a densely populated
country like India will involve displacement of people on a colossal scale and the people
affected are never likely to agree with such measures. All over the world, community
reaction is to prevent construction of large dams. Preserving rivers in free-flow condition
is considered ecologically necessary and the construction of large dams is now legally
prohibited in Sweden and also in parts of USA. The technical challenges to be faced in
redrawing the geography of the country are many and full of dangerous consequences
and the mad rush in pursuit of such a chimera will prove disastrous. The cost of the
project is so stupendous that any water made available will cost so much that
governments will have to be forever subsidizing farmers. What long-term impact this
massive borrowing will have on the economy is difficult to foresee.

SubQuestion No : 20
Q.20 What is the thematic center of the passage?
Ans 1. The social impact of dams over rides their economic impact.

2. Dams have proven to be bane rather than boon in the long run and the social impact
of dams over rides their economic impact.

3. Following the footsteps of Sweden and USA in banning the construction of dams.

4. Dams have proven to be bane rather than boon in the long run.

[ Question ID : 71939924133
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Section : General Hindi

Q.1 Ry 7y 21eg @1 T9E 74 fifSig)

w1 wifged

Ans 1. fgq@Em
2. FHYRT T
3. dGEY THE
4. Sgsife a9rg

Question ID : 71939924140

Q.2 fw g arau ¥ areg 7ia fifSig)

I @ 9 F der 7gi s
Ans 1. sgof

2. fgar

3. Wrgar

4. pHarg

Question ID : 71939924148

Q.3 fRu v arem & sremg AT HifST)

Qeft o TeT @ @t @ 2

Ans 1. HTeTaTde Y
2. WFaTad T
3. fRemraraes st
4. ffarees s

[ Question ID : 71939924138

Q.4 g g ari # @ g5 a1 7 RS
Ans 1. 3T & Pl SR STeTeh dich MY

2. 3T & i ST dTeieh i dich AT
3. 3 Rl TG STk dTferehl diehT I

4. 3P ST i SR dTeleh dleh 4TI

[ Question ID : 71939924145

Q.5 fw g geraR @1 oref e HfSgl

TeTee | et
Ans 1. AT gof s

2. Af¥hd & TS

3. TeT g

4. AR S
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[ Question ID : 71939924150 ]

Q.6 Ry 7y arem & fkar wa RSl

frameff 7 qwaes | Tmaw W= fam
Ans 1. T g foRar

2. Tgh fera
3. gdeniferen fomam
4. STen¥ch feha

[ Question ID : 71939924139

Q.7 f&Q TIQ arer A1 1t A HifSgl

SR GF g=1g, g4 &t g = 7 = ugdn
Ans 1. gofesaere

2. 3rquf sfdepTer

3. BLET T

4. Tfeer sgeptet

[ Question ID : 71939924147

Q.8 fw g Rk T | Iug=h HgreR &1 79+ HfAgI
e 3 ufy & gaeiR A 9 I d Lol
Ans 1. ST
2. 31feeh ua=

3. TG
4. IR et

[ Question ID : 71939924149

Q.9 1y 7T ggreR @1 31 e FifSigl

31T T TSIt GRIT
Ans 1. e TEAT

2. 9gd @RI

3. 99 AT

4. JHTE & TQIY TR} AT

[ Question ID : 71939924152

Q.10 &g 71g aret A o UehR &1 =W g T4 FifSigl

HTIhT 2T e at g & g &1
Ans 1.9dH

2. e

3.3

4. 31
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[ Question ID : 71939924146

Q.11 Q7T 2reg 1 vaigET A9 fifsg)

o

g
Ans 1. fawer

2. IR
3R
4.3g

[ Question ID : 71939924144

Q.12 1T 71 arerr & IuYH 2AE T T hech Rehed™ Y gfed RSl

UER St ST uomH @t
Ans 132

2. 3% forg

3.3

4. It

[ Question ID : 71939924142

Q.13 g ¢ Twsa =i 2reg & 3Ra o 7 fifSigl
arfe-amdl

Ans 1. 3d: R
2. AR T 3T : R
3. SIRY : I

4. TER : et

Question ID : 71939924143

Q.14 F=fafEa area 7 Raifha o1 1 R R e 7 fifsgl

& ot & o1 3 =nfRu
Ans 1. Sfaior

2. ST

S

4.3

[ Question ID : 71939924141

Q.15 2y 7Y a1 d fra farm g o1 suain farar stTen s9h uga= fifsial

T @l gl whl 7
Ans 1.1
2
3.,
4

ol
-
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[ Question ID : 71939924151

Ans

Comprehension:
Qe TSI T T 81 TR Rl egden Ug a1 Uik U o 9R faehedi # @ Tt fadhed g

Tyt sy & 8 a1l ot SiaRiEta Al Raw werar ST 81 39 ey &l 79 1 3ea TR Y 3gh
SHfHRY & Ul Ui e I8 TAh g T STaR Ta T & fae a8 =1 hael gg i GAh e
Tk Jiech IAd TATST o oIy Agaqul IRTEM & Hh | R H, AfGATSH vl T2=h & o ol Ted ugel
TS H I7eh ifenRT 3R Hedl ot AR aret 37 T+ &t Hie el ARAT SR 31 Si¥- &gt g, A
fea, SrfvefT, o7 &, SIAdT, Afgarst & Ui 9 4T, e Wi W I Q1WoT, 16 Hogy,
Jearghy, ATa aeRs) TS| Sft Sl Foi i i<k AT ST &1 39 Gord h 1f<h il farfa-uRepd e
I8 TS, enfefen, Tefaes =ama, foaR, fayme, o ofik SUTEHT Y Td=IdT, 31aER dhl AT &l
GIHTTR TeT AT 1 AR TRARKEATUT I ST & | TGeld THY o TT STefeh i i AR Ug- forg o
WS g1 Ig 370+ SIfAhRRI & Ufd IonT § JUT T 39T Hofg Al &1 919 98 IREaRT O aI1gR Reheien?
321 & forg fasty Aexrayul wrf st 81 oot ©ff Y s et &) ‘ufe smexvfa 3l 6t =gl & A
ARG Tepfal & 3 & o2t Uete o 3t R 3R T ahl gedt Y Mt e & forg &Y ufat B
AT AT 7T 81 Yok o FoIAT GERT SR TAT STSRAGI AT| ST 327 # AR 1<k ot Foft 3fE & aareh a9
& T fohd <1 28 €1

SubQuestion No : 16

Q.16 21 7 -+t 2rf<h ot Tt g & Treh 99 @1 v R 3@ 82

1. 911 AR
2. 3% 21k
3. R Rk
4. R Aifh

Question ID : 71939924156

Ans

Comprehension:
eh T T T &1 el Rt eargden ug e Uidh U & R fashed # @ w8t fahen g

Tgof fasy & 8 w1 ot SiaRfear wfgen faw A= SiaT 81 39 feaw ot 7 &t 3297 AR i 3Tk
STIGART & Ufd TicaTiod R S TLRH B ol STTER UaH A1 & [Srad 8 T Shad Ga i Ih s
Goh Ffch I9d THIS o ol Ag<ayuf ahTa & | R §, Afgerstl sl 92h a1 & ford T ugat
TETST § e AR SR Heat et AR aTet 39 Gt et T At ARAT e 81 S9- age v, A
fea, rfet, Yot ga, srTdT, Aigersi & ufa are fEam, orf et wR I 2ivor, 1er Heigd,
arghy, ATa deRs] TS| Sff Sl Goi Al ATk AT ST &1 59 ol ht 21f<h i faehfia-uRehd e
I8 TSI, Sffen, Tsmfdes =g, oo, fayme, enf ofk Ut &t Tad=raT, STaeR Sl THTT &l
GIHTER Ta AT 6 AT TRARKEALUT Gl ST § | T&eld THT & A1 e i &l AR Ug- forg o
WA g1 I8 31U SHYHRT & Ul TowT & U1 W S7ue fAofg A 81 o1 a8 IR & ameR e
3 & forg fasty wgraqul arf et 81 omret it i B wet € ‘ufes smexofia &Y dr 7 & dfe
IR TR & 38T & U Uele e @ df 7R 3fR AR ot g2t Y ST T o forg &t ufgat r
ST AT TT 81 Gk S FoT GERT STERT AT SIS U1 S1TST &1 H AR 21f<h ht it 3fE & derh a9
& 7T foRd ST %@ 2

SubQuestion No : 17

Q.17 sy g A o seera 3@ o e §?

1. TR Ug-forge IR &t 7 1

2. IR} g-foraa w@dd g1

3. AR Gg<T WA g I *MwoT AR |
4. 3 SIfeRRY & ufa T el &1

Question ID : 71939924155

Comprehension:



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Teh TTIIT T T &1 eI Rl eargden ug deT Uich U & OR faehed § @ et fadhen T

quf fasy 7 8 AT Y SIRTETT ARG fae 7T ST 8l 39 feae i 79 ot Se/d AR i ITh
SIRT & Ufd TiaTiod R SU Th B ol STTER UG A1 ¢ [SIad a8 T had g ol Jh
Hoh dfceh IAd THIS o ol Ag<ayul RTaM & §h| R H, Afgarsil sl 92h a9 & ford T ugat
AT | I iRt R gt ht AR aret 7 T el e Sl ARAT S 81 Si9- gaet 9T, dF
fea, srfet, oot gan, ST, Afgered & ufa ave fEam, orf e wR I 2iwuT, a1 Jeigy,
Jarghy, AIa dERs TS| Sff Sl Goi <l ATk AT STTdT &1 59 Goi hi 21fch i o a-uRwha &
3T qrTfSieh, sfefer, Temafaes =am, TR, faymg, o Sk SUTEHT &Y Td=dT, 31aaR dhl AT ST
GIHTER TaT AT 61 AT FRARKEARUT Al ST § | Tl THY o A1 ek i i AR Ug- forg o
WA 81 I8 U SAUHRRT & Ul TowT & a1 W 7o fAofg A 51 91 a8 IREAR & aTeR e
31 & forg fasty we<aguf wrf vt 81 ofTsT St hl Bfa 9t 8t ‘ufe sexofia i &t =18t § afch
TR TRl & 3BT & U=t Uefe o 3@ at R SR R Al et i et 7w & fog 3 ufgat dr
ST AT T 81 Qe S foAT =T STERT 4T ST AT S11ST &1 A AR} 21f<h hl Gt 3T § Fewh a9
& gag fhd ST 38 81

SubQuestion No : 18
Q.18 &t &t -t 21k <t 71 ST 87
Ans 1. 1S

2. o

3. fean

4. Mo

[ Question ID : 71939924157

Comprehension:
Qe TTEIiRT T T 8| TR Rl eayden Ug a7 Uik U & 9R faehed § @ wgl fadhed I

ol ey 3 8w oY SicRfg wigern Reag waT ST 21 59 Rad &) 77 &1 3290 A & IT&
AR & Ul TR e 38 TAh g T ITaR Te el & e a8 A7 hael Gg i GAh e
T Jieh Id TATST o oIy Agaqul IRTEM & Tk | R H, AfGATSHT bl TR=h & o ol Ted gl
TS H I7eh IRy 3R qed! ht AR aret 37 T &Rt FiE ol ARAT S 31 Si¥- &gst g, A
fea, Srfve, o7 g, ST, Afgarst & ufd g 4T, e Wi W 4 Q1WoT, S1e Jeigy,
JAGT, AFE aweRdt STfE| Sft ot For i 21fch AT STIdT 81 39 Joi hi ATk i [ Rid-TRShd &
I8 qrTfSieh, Sffen, Tsmfdes =g, faarR, fayme, enf ofk IUTH=T Y Td=aT, SrawR &t GHTT &l
GIHTTR T AT & AR} TRARKALUT Al ST & | TGeld THI o TTY e il AR Ug- forg ae
Wd7 g1 dg 31U AfARRT & Ul TorT & du1 W 10T vy At 81 91 ag IREERT 9 aTgR bt
31 & forg fasty weayuf wrf vt 81 orer it <t S 9t €t ‘o sexofia &t it =t & Aftha
ARG Tepfal & 3 & o2t Uete o 3@ &t 7R 3R TR ol gedt Y It e & forg &) ufat B
I AT 74T 81 Yok o FSIAT GERT SR TAT STSRAEI AT| 31T 321 # AR <1<k ot oft e & aareh a9
& gy fRd ST 3R g1

SubQuestion No : 19
Q.19 sy fasy & siaxida afgen faw wa w=man St1ar 87
Ans 1.10 9

2. 89"

3. 597

4.9 #Td

Question ID : 71939924154

Comprehension:
ek TTeIteT T T § 1 eI Sl eAgEe Ue aUT Uddh UM & IR fdehed A § Tel fdched |

ol frsy & 8 w1 oY sicRigta Afern R wemaT ST 21 36 Raw &l w7 &1 S22 1 &t 39
STIGRT & Ufd TicaTod R 34 Th B ol STER Ua™ AT & [Srad 98 AT dhad Ga ol Tk
o dfeeh IAd TSI & forg Agwayul ahre & 9ah| TR H, Afgersit s Jemh a9 & o gadt ugat
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AT § 37 AfYART SR Gl dl ARA aret 37 it et T oY ARAT STt 8 S19- gget e, O
fea, srfet, oot ga, srmTdT, Afgersi & ufa ave fEam, orf el wR 1 2iwor, a1e Heigd,
JaTghy, ATa deRsl TS| Sff Sl Foi hl ATk AT ST &1 5 GO ht 2Afch ol faehiid-uRwhd &2
I TSI, $Mffe, IeTfae =am, R, Ry, ot ofR IuraT Y Td=dT, SrawR Sl FHTaT &t
GIHTER TaT AT 6 AT TRARKALUT Gl ST § | T&eld THT o A1 e i &l AR Ug- forg o
WA g1 98 31U SHYHRT & Ul ToT & U1 W S7uen fAofa A 81 91 a5 IREAR & aTeR e
31 & forg fasty we<taguf il et §1 ofreT St hl Bfa ot 8t ‘ufd sexofia i &t =8t § Afce
TR TRl & 3BT & U= Uefe IR 3@ at R SR TR Al geft i et e & fog 3 ufgat A
ST AT 7T 81 Gk S foAT =T STERT AT ST UT| S1TST &1 A AR 21f<h hl it 3T § Ferh a9
& T fRd T %@ 2

SubQuestion No : 20

Q.20 Iuwh erien 1 Sugsh i Far gim?
Ans 1. TRI-ggS T

2. T Iromfaes ST
3. TR IREERY & iR
4, A1) GRrhieRuT

Question ID : 71939924158

Section : Discipline1

Q.1 3Fg=fer fver gorrelt & oy A FafafEa § @ &9 a1/@ sa= a8 82

|. SHRT A& FHAT G Ut # goar & fAfga &1
1. 5erT foTft o fawmtan & a1y S ueael Ty T8 &1
IIl. Tg efamRer auT iR-sfitu=ries fALAT 1 SIqURE 81 &1

Ans 1. ldurlll
2. laarll
3. laarlil

4.1, At il

Question ID : 71939924177

Q.2 Which of the following is an important and known cause of cognitive disabilities?

I. Trauma and physical agent
IIl. Chromosomal Abnormality

lll. Psychiatric disorders

IV. Metabolism and nutrition
Ans 1.1 1, llland IV

2.1, Iland IV

3.1, lland IV

4.1, Iland IlI

[ Question ID : 71939924159

Q.3 f=fafEa 7 @ o R4 yer i e & gwf & g adi 82

Ans 1. Uk BT hi 3Gk W4 o T Hed| I STaciich dUT GAE H HA&& el 8l
2. U B ot gt Al & ey § W T it et dUT IHSH & Heg hedl gl
3. U Afch T ITh S UG & IR H SIHReeh g4 § Hag hedl g
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4, Udeh o1 I A&7k Sfed & IR # Ydenfedd faRT & T UTW &l # Heg el 8

[ Question ID : 71939924178
Q.4 F=fafEa d @ o a1 adter & Siad gRT U e st d i e o fienfgda o dwar
8?
|. &€ E=r wieret hit G2rel upfa Ft ggaET

I, BTt <t Meaiad R ok 3 faaR &Ra 9w @ @ a1 &3
I1. g=aiaRoT St Meaad &R, frelt iy g ute & vy & fiar iR T1gR Jdy R SR &1

Ans 1.1t &=t
2. | dar |l g+t
3. 1l aur il =t

4.1, [t il

Question ID : 71939924163

Q.5 TR fANen A dgar s9F & g wgErE gr1 F=faf@da 7 @ o a1 wrf far s awar 82

|. et § wTefRal & nfauror § gfEg
II. Tt & fNerehl & AT hl TgTaT &1
I1I. fvarert st TafT aeAT

Ans 1. 1Tt
2. naarli
3. 1aurlil

4. | qarll

[ Question ID : 71939924170

Q.6 fran &1 eifdeR ifdffam, 2009 & IgHR, uge & uiadl wer & g g adf & fohas gmaw
& e &Y stravaehar gidt 87

Ans 1.200
2.180
3. 240
4.220

Question ID : 71939924171

Q.7 fA=faf@a d @ o= a1 sifeerr ) ganfaa == arer et @ @dfdq g wre =8 27
Ans 1.&H

2. OO
3. e

4. IR

[ Question ID : 71939924173

Q.8 with & srgur F=fef@a 7 @ = ar ad 8?2

|. 3ifnT Y T=af @t MR wu @ Tihg giA & SrawRl ot ue &= T2yl
II. sr==t @t gfran & aR # T & 31 Afsd sAF i Tadsar gl arfgul

Ans 1. %ad ||
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2. &had |
3.1 qarll g=t
4. g AT

Question ID : 71939924174

Q.9 Which of the following words cannot be used for positive verbal reinforcement?
Ans 1. Excellent

2. Poor
3. Correct

4. Fair

Question ID : 71939924160

Q.10 Which of the following type of question allows students to go beyond the available data
(their learning) and synthesise them with their personality characteristics?

Ans 1. Convergent Questions
2. Provocative Questions
3. Consequences Questions

4. Hypothetical Questions

[ Question ID : 71939924161

Q.11 F=fafEaa @ @ o i saferal R vEa=Tsi &1/d uamea &/872

I. s Sfiae 7 ARt & ergeral i R et €1
II. ¥TETY AR SagR fY Roneil & U & rf et &1
Ml. MTeETeHe 31T O aafehe & @RI 31relt &1

Ans 1. Il e Il =T
2. | aar ||l gt
3.1 gurll &=t

4.1, [t il

Question ID : 71939924164

Q.12 Which of the following is the development norm for a 2 years old child?
Ans 1. The child can skip and hop

2. The child has free and active movement and can respond to music
3. The child can walk without help, jumps, runs

4. The child cannot walk or even crawl

[ Question ID : 71939924168

Q.13 Which of the following disabilities can pose a threat to children in the process of their
education?

I. Physical deviations
Il. Sensory impairment
lll. Problem with language and communication
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Ans 1. Bothlandlll
2. Both Il and Il

3.Bothland ll
4.1, Iland IlI

Question ID : 71939924167

Q.14 F=fafEa 7 @ fra afra f sauron & aga anfae & fvar s awar 87
Ans 1. Qe &k {9 avg § a1d sheal &

2. Yo Afh forg aXg @ &l el &

3. Ueh afh o9 ave 9 fAofg aar 81

4. Ueh eafh forg avg & =reran 81

[ Question ID : 71939924165

Q.15 foreft eafer & farerer & fran &t e yfaes gt 87

|. ag faenfRial wht fAetor e Ue= FHRaT & St I siiaq J rf A & A 2méifes, aafs
aUT Ao T & AR T gl

1. 3==1 f&IT Yeh W€ THTST hl IIQ @A & Heeg Hhedl & St RAfAa @y Tgwre susi=hrseit
aur 99terl & AR A 21

Ans 1. %ad |
2. AEITEI
3. | qurll =t
4. %aa |

Question ID : 71939924175

Q.16 WRT aRuRes e yomett & Sey § Fafafaa d @ i 91/ wu= ag &2
. ag 1 at @oft & forg eft oft o 71 & 3 Y gurar ot
II. ag afRa & gefir oft a2 enfifer I2ea & wwfNa oft
Ans 1.l dur |l =t
2. AEATE I
3. Fad |
4. %aa |

Question ID : 71939924169

Q.17 dfee gRT 1835 & Hehew # Gif¥a aral & FafafRa d @ A ar d?
|. fverer ufreror deuml Y TUTIATI
I1. TRt At ERarY MToT 3 U H TETE o R
Ans 1.l @l =t
2. EAE
3. &ad |
4, e ||

Question ID : 71939924172



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

Q.18 F=faf@a & @ &9 91 S i srayehar &7

|. vt 9 g =gl
I1. =af<h e uaTa R Ry e Tfgul

Ans .| dur &=t
2. Fad |
3. &ad Il
4. g Al

[ Question ID : 71939924176

Q.19 Which of the following is NOT an internal factor which influence growth and development
in children?

Ans 1. Social nature
2. Heredity factors
3. Technical factors

4. Intelligence

Question ID : 71939924162

Q.20 fF=afaf@a 3 @S9 91 v a2 ot nfafafd s w@= & forg dRka &) gehar 82
Ans 1. <3 et &1 7S TIfAfafer &Y epfear

2. T&ATER SV
3. TOheTdT T ST
4. feTeR gRT ARRICHS Mk FGAIheoT

Question ID : 71939924166

Section : Discipline2

Q.1 Hgort Sifnr fafdr a1 IuahT @eh e J STeaTueh RT B § TehRTeH URomd ue fhg s
Teha 87

|. 9Ya1foreR dTer
II. I e a
Il dgar siqedfnes Hay

Ans 1. lldurll
2.1aarll
3. laarlll

4.1, lhaar il

Question ID : 71939924191

Q.2 fraror i fora fafer &, farenffat @t @iserat ar snfaserRer & Tu= W @ STTaT 82

Ans 1. gRfes fafe
2. @ g fafy

3. gEwr gETeE fafer
4. doige fafar
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[ Question ID : 71939924188

Q.3 FAfafEa d @ =i ifa sffarae s=ga e o & fig 82
Ans 1. Shadl STFERUMSH T Ufden=oT

2. 3= SNTH o AT SAGIE AT ATUTH AT

3. el ITG e T ORI

4. AR 8T i U AT

Question ID : 71939924179

Q.4 In which teaching approach, the textbook in the subject is considered as the storehouse
of all the required concepts, examples and exercise that are required for the teaching-
learning process?

Ans 1. Competency based approach
2. Constructivist approach
3. Subject centered approach

4. Learner centered approach

Question ID : 71939924185

Q.5 Which of the following is/are the principles of Play-way method of teaching?

I. Principle of fulfillment of desires

Il. Principle of unfolding innate potentials
lll. Principle of natural instincts

IV. Principle of responsibility

Ans 1.1 1l llland IV
2.1, lland Il
3.1 lhand IV
4.1, Iland IV

[ Question ID : 71939924187

Q.6 Sracteh & ATead § il 7€ SHeRRT dif Fyfa & fog fAafaf@a § @ w1 ook sEi grR
I fi ST Rl 872

|. 71 @) 7= Fomanatt Y sizaet aFTeRR 91T SRR
II. 3=t 7S awgaif hl 32T & wu A fRumT @R AT

Ans 1| dr | &=t
2. Fad
3.Argrararl
4. %ae |

Question ID : 71939924181

Q.7 A ¢ ga foreht fagt wia &, faf= ema anif A =aferal A = st =gd €1 59 fag,
JMiehe TR UTferer1/damad shrafed & U Iudey gl ag fA=faf@a § @ frg 9ia @ weiha
farg g srienet @1 g SaTERor 87

|. wrafAes sita
1. g sta
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1.1l g
2. Fad |
3.AgrATarl
4. Had ||

[ Question ID : 71939924198

Q.8

Ans

Frafafaa 4 & o ag gufar & & o et aafes ft vgam @ g gg @2

|. foreft afr &Y wma ag 2t & o ag fova onf & @il & T gar @1
II. Tt ggTgeRH Rt ST Y@= # ST Uek FRoTfaes e 81
I1l. ek 31T HTHT e a1t aaf<h ahl Uar Tt 3919 & &9 & iR T8 favar smar &1

10 g
2. 1aarll
3. 1qurll

4. aarlll

Question ID : 71939924195

Q.9

Ans

hicel & ATsd hl rieT=ARor 3ifeR A<t & ar A Fafaf@a @ @ &9 a1/a Fa=F @ &2

|. ag @k Y rder siawia iR AR &t 21

I1. fvameff g@=i & frsdwor 1 IuThT R & TUT ATEETRSE, THNTeHS SUTNTH U= UEE hed
|

I11. fvemeff shrat et ox1 = & foIg Tyl § e T g aed &1

Tt
2. 1aarlll
3.1aurll

4.1, [t il

Question ID : 71939924189

Q.10

Ans

qgUTITETE & deiy A Frafaf@a f @ sl @ sy g §7

|. IgTITETE, SR R | arar o9 WeRar g1

II. IGHTTTE T Hitepieres Wi I sifveafws & U # a1 S ¥ehdT 81
IIl. IgTuTeTS Qe eafh i arftres afgeoy s=mar 81
IV. ¥R & agyTuTare &t earaehdr 3 36 e farera @t e far 81

1.0l
2. 1qarll
3.1 v

4101, N aar il

[ Question ID : 71939924196

Qn

Ans

foraTeretTa 3meRa SUTTTT <R/ R &1 8/87

|. ag erueft dieht & diem aur diam i afa @ Fufor FA & o srdds Suesy =T g1
II. ag Ta-31fm i eryar fanfSa war g1

I11. ferem=ff & w@sft erareil, T & T 1 Fedich=T GUT AY AT Y TFAT ST ermarsi
faepra gt 21

T4 nagrli
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2.\t
3.1aurll

4.1 qarlll

Question ID : 71939924192

Q.12 Which of the following teacher learning method is a projected aid used by a teacher in
teaching-learning process?

Ans 1. Photographs
2. Chalk board
3. Field trips

4. Epidiascope

[ Question ID : 71939924194

Q.13 fA=faf@a A @ &9 91/3 st & G O ST & situ=mRes dfehar srasur & dator
&

|. <k erreefare & faera
II. foram<i & wwguf am=fte=or
11l. uRerfead faami aur fRafaat w1 arET A 6 glaar

Ans 1. |darll
2. aarlil
3.0 aarlil

4. 11Tt

Question ID : 71939924184

Q.14 Gug 4 IJUnTH #, e A 1eATIF ZRI A F el fohy wiret 872

|. T3g ot FRmfor et
II. T & Hohwor & a1 I AT
1. T & ifrr aRurmst o6t wafeRa @

Ans 1.1 i@t
2. 1t
3.laurll

4. | qaarlll

Question ID : 71939924193

Q.15 &4 3ruft urs gierr | erfiemos ot gAfea o afge?

|. urs T¥sr & 9 Qe giern A &d Hiil @t e e i srgafa T aifes ursashn @t
STeg, gxT foRam =i |1

II. TEfeTae fARaR SiTehest & SIRA TSt ol IArafaa & 3|

IIl. 3 uTs Tter1 dht goT | AR geaieh F Agayuf 81

Ans 1.1, 1@t
2. Fad |
3. ldul
4. e ||
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l Question ID : 71939924197 J

Q.16 Which assessment strategies are used in constructivist assessment?

I. Oral discussion

IIl. Mind mapping

lll. Pre-testing

IV. Hands on activities
Ans 1.1 1, llland IV

2.1, land IV

3.0, and IV

4.1, 1land I

Question ID : 71939924186

Q.17 Which of the following forms a part of the assessment in learning-centred approach to
learning?

I. Peer and self-assessment
Il. Integrated assessment
lll. Students and teachers agree on feedback timeframes

Ans 1.1, Ilandlll
2. landll
3. lland
4. 1andlll

Question ID : 71939924190

Q.18 fefur &t forg A<ht &, ag 7= ST @ foF et & 9oft sl o1 givadaT &R 999 91 Uk ST @
TUT TEGSAT AU TEATSHT & T G 31 72

Ans 1. BTE-chfad frefor

2. UTSTehA-SeTRa fRygror
3. arf fwfor & & F srfdma
4. PRI gRT sifenm

Question ID : 71939924183

Q.19 BTl fha avg Y IRon A & 59 I8 Thaargde Hrd I et & g Jrar-foar an
3eATIF ZRT 4], IUGR AT 3k FY REHR Ry =i g2

Ans 1. 7T dt sriafes, A1 8t aTg] SRom
2. 3ffaRes BRom

3. 3fidfer DRUTT sTgT BRoM &t
4. q1g] wRom

Question ID : 71939924180

Q.20 @ grr sifdm fafdy fPafaf@a & @ frg Rigia = safka &7

|. aferaan =1 Rgia
I1. arehyuf Ria= = Rigia
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I11. S22yt srgrat @t Rigia
IV. e f @t & R_gia

Ans 1.1 @t

2.0, 0 naar v
3.1 raar v
4.1, I gar v

Question ID : 71939924182

Section : Discipline3

Q.1 F=faf@a wuEl 9 @ w9 a1 ad 82
|. Qeh @R, Qeh $€ a1 SHHHI STTRITHT aTeil §HI TR avg il &t a=1H & 19 § ST SIren
gl

II. Qe g1 S darg, SiSTs auT $A1s aRIeR g1 39 Ueh 991 & 919 @ STHE1 ST 21
Ans 1.TE A

2.l aurll &=t
3. dhad |
4. FHad ||

Question ID : 71939924207

Q.2 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

We have time to catch the flight.
Ans 1. without

2. and
3. still

4. yet

Question ID : 71939924215

Q3

figure has two triangular faces (one at the top and one at the bottom) generally
known as bases and three rectangular faces perpendicular to the triangular end.
Ans 1. Prism

2. Frustum
3. Pyramid
4. Cylinder

Question ID : 71939924201

Q.4 Improve the bracketed part of the sentence.
Raj bought an apple (with) a shop.
Ans 1. at

2. from

3.to
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4. No improvement

[ Question ID : 71939924208

Q.5 == o TE a8k Q Thel BT IUANT AT AT @R ) Fam 91 & g Fafaf@a 4 @ fra
3faf<h T@uret i sfragerdar 82

|. Thet UR IU-FhTSAT & 3R & T=al sl aRRfRa s
I1. ATOT T & 1Y Thel ht 3R U & @

IIl. arafaen daTE AT A | UGS SIS DT SIFHH AT
V. siaTg Y I &1 | 7o SHRAT

Ans 1.1l lll @IV
2. &ae IV
30,0, v
4.1, 1ldam v

Question ID : 71939924205

Q.6 In the following question, out of the given four alternatives, select the alternative which
best expresses the meaning of the Idiom/Phrase.

Go out of one’s way

Ans 1. make a special effort
2. to be plain and evident
3. laughing out loud

4. abandoned without support

Question ID : 71939924214

Q7 &R fog sfvm &1 ge9 Agayef U Hraz gl

| d@der 3R

II. STamer 3
Ans 1. gl =t
2. e |

3. e ||

4 AR

Question ID : 71939924216

Q.8 In the following question, out of the given four alternatives, select the alternative which
best expresses the meaning of the Idiom/Phrase.

Cock-and-bull story

Ans 1. Establish oneself
2. an absurd tale
3. investigate

4. attend to

Question ID : 71939924213
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Q.9 = foum & afaes fAvfa & Rigia A fra @=or 42
Ans 1.3

2.4
3.5
4.2

Question ID : 71939924218

Q.10 warfafa & wrad= fi sauron gdor # wrad & gA gt 81 wrad= stepfaat
I T B

|. ferorear
Il gafafa

Ans 1. &I
2. %had |
3. %ad |l
4 | aurll g

Question ID : 71939924206

Q.11 Choose the word that is opposite in meaning to the given word.

Hatred
Ans 1. host

2. loth
3. liking

4. safe

Question ID : 71939924209

Q.12 When new behaviour is acquired through observation alone, then the learning appears to
be

|. dramatic
Il. cognitive

Ans 1.0nly|
2. Both land I
3.0nly I
4. Neither | nor Il

[ Question ID : 71939924217

Q.13 fF=fafEa d @ o 1 safafa &1 g ga sifpdia a8 82

Ans 1. T& foig & dhadt o @18 Wit SI1 ehdl &1

2. g 3@ (AT et @) qT g fogstt & ge Siead gl

3. afe 3 e e TR h hred €, df IehT Ufdwse e dteft 3@ gidt &1

4. To Tad | &l g g foigett & aAremm @ @i 78 X oft gaae # ffga gt 81

Question ID : 71939924202



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

Q.14 Choose the word that means the same as the given word.

Force

Ans 1. compel
2. sorrow
3. TRUE

4. easy

[ Question ID : 71939924210

Q.15 forg af & are aur 7mg 6 Hfifder yorneht @t uRd due gRT sraaman T Aar?
Ans 1.1962

2.1966
3.1967
4.1956

Question ID : 71939924204

Q.16 ‘Hex’ e ____ Miem s @ fomm mn @1
Ans 1.%gH

2. %

3. \ié

4. 5%

[ Question ID : 71939924203

Q.17 fA=faf@a & @ &9 91 HY= 999 - A7 &) g2afar 8?

|. foreht ovref it g1 et A @ fohereT T v &2
II. ¥ e R & ey wfea gd?
I1l. 3D a<g gr fRrurfoa arft fr amEm

Ans 1. llTurlll
2.1 aarli
3. 1qurll

4. 1 aarlll

Question ID : 71939924200

Q.18 Afeer aun sehtfae woneht g &, Aafafaea d @ &= @1/Q 219+ gorEal @1/d TaR &2
|. SITURYA SehTat
II. = geRTSaT
Ans 1.TTEIATEI
2.l @t |l &=t
3. Fad |
4. e |

Question ID : 71939924199
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Q.19 Choose the word that can substitute the given sentence.

A book of names and addresses
Ans 1. cenotaph
2. harangue
3. directory

4. memoirs

GET IT ON

Google Play

Question ID : 71939924212

Q.20 Choose the word that means the same as the given word.

Guest
Ans 1. visitor
2. grow
3. enslave

4. host

Question ID : 71939924211

Section : Discipline4

Q.1 = A & fre Auds R w-geaiaa/ Rufzor & ust @ 5 g €2

|. STIROT
II. 991

Ans 1.3dd |
2. 98I sRAGI
3. &ae Il
4. | qgr |l =T

Question ID : 71939924229

Q.2 ugfeaRor sremg= A fAfaf@a J @ &= a1 e Raforere geaie a8t 82
Ans 1. BT &t G Shech TUT ITY T4 e h folg ahgr

2. U & ST T UTeh i g

3. TaiaRoT Srezee & goft fwat wR o= & ofd Y udten 3

4. gateRor 3regge & foheft oft favg W wes dfo gt oten

Question ID : 71939924224

Q.3 Which of the following is not true regarding ‘free activities'?

Ans 1. There is a genuine communication
2. The atmosphere should be informal
3. There is often a game element

4. They focus attention on the language

Question ID : 71939924226
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Q.4 fafaf@d d @ w9 a1/ 'Yuor Fi Siew o are- Rea g/8?

| S
I, SE= ugfa
Ans 1. %ad |

2. g ATl
3. Fad ll
4. | g || &t

Question ID : 71939924219

Q.5 uaferor & g & Fafaf@a & & &= a1 &= 1aq 82
Ans 1. TaTeROT S1eeH Fae faTH, QTSI STeae T 1o & Sfagf® o axdl &

2. UITaROT ST I IeF Tl H I ITdTaR0T & YUTdTaTs! a1 Gehlghd URYed ot fenfiid e &,
STgi a8 TgaT/Tgdt 8
3. qafaRor ST ot T aur amnfSis e Sig vl & st orerfies @R o 9 bt ST &

4. qgfeRuT 7T Freal el Ich HTepiaieh T AHE AfFfa aRasr & a1y Je= qT vl & 7 Acg
AT E

[ Question ID : 71939924221

Q.6 Fr=afaf@a & @ forges SuahT weri-amuTRa it & T foraT i1 epdr 82

|. o1 aur fiaf
I1. fifeat =Y RepifEm s

Ans 1. 3hdd |
2. Fad |l
3.qar| |l g
4.8 SRIE

[ Question ID : 71939924237

Q.7 What comes under ‘writing at text level’ writing activity?

I. Diaries
Il. Descriptions

Ans 1.0nlyll
2.0nly |
3. Neither I nor Il
4. Both I and Il

Question ID : 71939924232

Q.8 fF=fafEa & 9 i a1 g Suahift shoger 91 & @=or 2 d anfae 872

|. AT T 2T TE HIAT
Il gRAa T fFated R @

Ans 1. %ad |
2. aur| |l =t
3.8 ART
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4. FHad ||

[ Question ID : 71939924235

Q.9 F=faf@a #& @ &l ar favg-snaRa & & deof 7 ot a8 22
Ans 1. T fonell o fR1e1uT i Saafedd =t ot GRS dXieRT &
2. farwat ur R eer fATH i ufehar & Heg e erdr &

3. foreht ges fowg wR e i ol T, uTe ot fawa @t «ameT et geren 7 Sifdies Ageagut gt STt
2l

4. I MUkt fenet foror & e<rd & ST &t At a1 @

[ Question ID : 71939924225

Q.10 FAAfafEd § @ Si-u1 e & sreoua & g 851 uHoT &1 Yeh 3224 81 g1 Tehal 27

Ans 1. BT Pl Ik A § G URFIT dtel Rl uga S # Gerd gt
2. & Uil & ema I § germ gt
3. BT ol STRR & YR R el &l qiffepa st qom &t 72 fafderar & o1 ol uga™ & em gt
4. BT ol dieff 6 et fALwdrait & 3R I Sracith et quT Repls e | Tem gl

Question ID : 71939924222

Q.11 gafaRur sregg= # fA=fafaa & @ forg uenzor & aregw @ ==l &t uie @ SreTd e SidT &
?

Ans 1. 3m3™
PRIES
3. 9o

4, STaR

[ Question ID : 71939924223

Q.12 Which of the following components can be categorized under Socio - cultural
environment?

I. Political Institutions
II. Industries

lll. Landforms

IV. Community

Ans 1.Bothland IV
2. Both land I
3.1, lland lll
4. Both Il and IV

[ Question ID : 71939924220

Q.13 Practising new structures and functions is a purpose of which activity?

Ans 1. Writing at sentence level
2. Writing at text level

3. Writing at word level

4. Writing paragraph level
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Question ID : 71939924238

Q.14 F=afaf@a d @ &9 a1 geien @ g ffwn g?

|. uTs Y Tefterr auT IRifAd wAT
II. TgeRT Rt | e

1. Faa i

2. Fad |

3. 1 dur || =t
4381 RI

Ans

Question ID : 71939924228

Q.15 fA=fafaa g @ forg =t daTeres o & enfae forar mar 82

|. T AT
II. sifem o=

1. %had |

2.9 sRTSI
3. Fad |

4. Jur| 1l @

Ans

Question ID : 71939924233

and answering questions?
Ans 1. Role play
2. Reading aloud
3. Information gap

4. Retelling a story

Q.16 Which speaking activity is carried out in pairs or groups and often involve pupil's asking

|

Question ID : 71939924231

Q.17 F=fafEa d @ o= o Siowt w aivgpfas s & nfae frar mar g st fk @ gs &
ATeAA § U Y STl 872

|. FgR

II. fereraf ar Asrerf 6 fSieft
1.98 RIS

2. Tl |l &=

3. Fad i

4. %ae |

Ans

Question ID : 71939924234

Q.18 =1 & & foFe aror o1 IuahT v & fAemeff H R Ft vienfga & & fog, st g+ & g
ofRa ezar g?

1 g
2. g T

Ans
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3. Ui=Er =@RoT
4. G & U

[ Question ID : 71939924230

Q.19 FEH=wd fAeror & wm anfie &2
Ans 1. 9t sreaf & forg Iuges gt Ue AT
2. &t SR Fsi ot IudhT ehech et et
3. SfT Y Afert i ge e sl TERARIT e & forg et Rt oA
4. fafera yer &t Il ofik Gere St fafra ver & fRenfeal/ diemar &t & sty &t

Question ID : 71939924236

Q.20 FA=fafaa d @ o 91 Fen 'Rl it smate' & siaefa =gl emar &2
Ans 1. foaRl & &t & da<ich ol Sird e

2. I (&89) &l ST T
3. foaRt it et & a9 Y ST wAT
4. Tug deof 3

[ Question ID : 71939924227

Section : Discipline5

Q1 T 6wk & ar & Prafafla & & @i a1 e adt 8782

|. faETfer geTd RN SrEiag dUT THTH g1 areft gl &1
II. s1farsa & g & 3§ | YdehIeT Y =T sfaeTE 8l
IIl. 7 sfaera gl @ wra & warEl aur Iyt @ |@&6fa g1

Ans 1. @l =t
2. e ||
3.1, Il
4. |l gt Il @

Question ID : 71939924240

Q.2 fF=fafEa d & o4 @1 Fua gmos T & uefa & ar 7 98 8/8?

| srezra & fawg & wu & arnfoies e d o wwen | weifa famms, ama-2me, areE,
srefame, ane onfe S fawa anfae &1

II. srfSer o= fava uepfa | g wu @ siafduaes aur s=ai=nfaa &1

1. Sfies faT & uTswshA ot oara Twa 38 faf v Rt & |y g forar s anfgal

Ans 1. | @l &=t
2. 1l |1l &=t
3.1, liar
4. | qurll @

Question ID : 71939924243

Q.3 ek fAeror-sifdnm ufehar & utswsha & TR A fRafaf@a & @ @9 a1/@ sy a8t 8/8?
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|. Teh UTSUshH ek fAfAre &idd Y TwkaEr @
II. 39 anfAe forg oI aret faror, Seidh e en, STaRR SiTaRaeh SR Y 1Y Us— |rdt ok
forett oft o= uifTeR ST @R enfAe v siTan @

Ans 1. |dTll g
2. Faa i
3. %ha |
4. g RIE

[ Question ID : 71939924254

Q.4 Ateacher wants to teach his/her students about astronomy and celestial bodies. To
which of the following place, she should organise a field trip for this purpose?

Ans 1. Planetarium
2. Botanical Garden
3. Museum

4. Vivarium

Question ID : 71939924255

Q.5 = & 9 &= a1 vy sref armfSie e & siarfa affera farar s geRar 82
Ans 1. =T e

2. e

3. AFa-MES

4. 91 fagm

Question ID : 71939924242

Q.6 "¥En @s & sifaw fagait & fia fit T i T @< it FarE & wu d S Sar 81" 98 Ui
Ty FAfafaa 9 & et aRaRa & 8?7

Ans 1.3@1 TS &l das
2. gy feig
3. 3@ ES
4.3

Question ID : 71939924247

Q.7 F=fafEa d @ o9 a1/@ wen 7 T ver & g yoars gfeewior & suain aa & @1 €2

|. siforme getefgof ofir sreigwH gt sirar 81
II. ST Rt 71 i surht wepfa @1 gEar gar g1

Ans 1.78 I SRAEI
2. Fad |
3. & |l
4. | qurll @

Question ID : 71939924253

Q.8 Tk fOSH o1 SR T &1 S bl irag qut wiers shusr: 14 .58, qur 5 & .51, &1 afy frew
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& Farg 10 Q.51. , at sw o1 et gefig Serche a ghm?
Ans 1.

2
3.
4

Question ID : 71939924246

Q.9 e s & g w1 a1 gt cimfAe gfitwtor & wu & sirar sirar g2
Ans 1. geaifSied gfeentor

2. AT gt

3. YBdTo gfeehio

4. IfISHR gfeehtor

[ Question ID : 71939924252

Q.10 Stapie & siatfa FefafEa § @ fore &= @t affepa forar s aemar 82

|. mroft ot
II. TafeRor sper

I, it spmer
IV. aeafa apite

Ans 1.1 lldrIV
2.1, At il
3.1 raar v
4.1, 1, haar v

Question ID : 71939924244

Q1 g & o whaR =g forar 11 Seran & «@fehe ag a1fea & g 81

g
II. BiEegse

Ans 1.78 I SRIEI
2. e |
3.l g
4. %aa |

Question ID : 71939924248

Q.12 fEfafEe d @ &9 9173 I & vaR 82
|. FETaeft Soft
II. fafre sioft
Ans 198 SRAE
2. % ||
3.1 dur |l gt
4. %ad |

[ Question ID : 71939924249 ]
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Q.13 2AETael) T 31T AT 3R Sitg e H i ff nfafafdr enfae 22

|. eregi ont Rt & faer
II. @t T STFAT ST

Ans 1.%ad |l
2.8 SRAE
3. 1 dur || &=t
4. &ad |

[ Question ID : 71939924239

Q.14 @t oA & sger, F=fafe@a & @ @ dmfe Rf f Rvang &2

|. T ot STaYTYden aur S aiffeor

II. Sg-Eee AUT SIIehH I Haeilch

IIl. TETeHeR heaHT Y Agradr & defae Aot fir @t
Ans 1. |qurlll

2. llaarll
3.1 At

4.1 qarll

Question ID : 71939924251

Q.15 fA=faf@a § @ @i 91/& 7o Hie & gedic & Suhvur 3R dah-ih 87

|. forf@a, M@ ik ugaf uderor ek arf
1. aREsTedt ofik ek
1. forfiT & e | a=a Y wmfie

Ans 1. ldurlll
2. &had |
3. auriil

4.1, At il

Question ID : 71939924250

Q.16 F=fafEa # @ w9 a1 uRa & ghiga A& 1 SHH g1 a1e1 ok At Arsd 87

|. @-fAfga soft
I|. ST het

Ans 1. %ad |

2. &ad Il
3.8 RIS
4. | qurll @

Question ID : 71939924257

Q.17 Uk S & SR Y Bsar aur Fars shasr: 28 9.1, aur 5 9.1, &1 S 1 ash gl Sethe
1 gh?

Ans 1.
2.
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Question ID : 71939924245

Ans

Q.18 "siferftsT &t O, ZIRT g2rfaT SireT 8", Tk gl

1. ufehareres I
2. &=ikes I
3. Aerepiffea I

4, IA-TcHh AT

Question ID : 71939924256

Ans

e he Jehell 87

|. 3R THTSIE Fei WR are- farg it saaear s

II. Tu=r SETae afehal aUT ST hiiehd! o 91 BTE1 o faaR-famef Y et w=Am

Q.19 Ffafea # @ @i @ fafy S s & wrflerd J e - e f aften #t = &

I11. Qe & T aTaTaRoT ST fOad |ig srdeure anfie & STl Sarest st | fran sa @1

1. &aa
2.1, gl
3. e Il
4.1 aur |l =

Question ID : 71939924241

Ans

Q.20 fA=fafEa & @ = a7 gerferasor e & Afka &7

|. T AT Bl FSTar T
I1. TTg=1 i Rt IR T
[Il. TETUT TeF UgH ol WETH HEAT

T.0aarll
2. 1t
3.1 At

4.1 qarlll

Question ID : 71939924258
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